2-58

If the force-couple exerted on the beam in Fig. P2-58 can be replaced with an equivalent single force at B, find the
magnitude of force F.

Solution.

M=320N-m 4

C D

A B
¥ X /
*—lﬂ(]mm—lfl[)ﬂ mm 100 mm

NN




2-61
Refer to Fig. P2-61. Determine the height of the point above the base B through which the resultant of the three
forces passes.

60 1b -

Solution.

130 1b - |

3ft

3 ft




2-68

Determine the magnitude, direction, and location of the resultant of the two forces and a couple acting on the beam

in Fig. P2-68. 5 klp“: ]0 klpb

Solution. !< 20 kip = ft
Al % WL
C D ,,S;;
4!—2 ft —efa—2 fi 2 ft—»




2-76 to 2-81 Replace the loading on the beams shown in Figs. P2-76 to Fig. P2-81 with an equivalent resultant force
and specify their location along each beam measured from the left-hand end A.

2-78

Solution. 6 kN/m




2-83 and 2-84 Replace the loading on the brackets in Fig. P2-83 and Fig. P2-84 with an equivalent resultant force and
specify its location along AB mea-sured from a convenient point.

2-84 400 1b
Solution.
60°
At B
5 ft
8 ft
77777707777

C 50 1b/ft



2-86
Determine the distances a and b of the triangular load in Fig. P2-86 so that the resultant force of the loading is a
200-1b force acting downward at the midpoint of the beam.

2-86

- a e h —
Solution.
200 Ib/ft
2
A BY
50 1b/ft

I 12 ft !




